4%/ BE

Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
9,781 x 10 = 10, 891 x 1000 =
7,545 x 1000 = 6,991 x 10 =
1,179 x 100 = 1,011 x 1000 =
10,373 x 10 = 8,9 % 100 =
9,49 x 100 = 1,758 x 1000 =
8,434 x 100 = 9,955 x 1000 =
1,515% 10 = 3,497 x 10 =
5,626 x 100 = 3,988 x 1000 =
5,293 x 100 = 3,172 % 100 =
7,714 % 10 = 6,578 x 10 =
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4%/ BE

Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
9,781 x 10 =97.81 10, 891 x 1000 = 10891
7,545 x 1000 = 7545 6,991 x 10 =69.91
1,179 x 100 =117.9 1,011 x 1000 = 1011
10,373 x 10 =103.73 8,9 x 100 = 890
9,49 x 100 = 949 1,758 x 1000 = 1758
8,434 x 100 = 843.4 9,955 x 1000 = 9955
1,515 x 10 =15.15 3,497 x 10 = 34.97
5,626 x 100 = 562.6 3,988 x 1000 = 3988
5,293 x 100 = 529.3 3,172 x 100 =317.2
7,714 x 10 ="77.14 6,578 x 10 = 65.78
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